
Atomic physics 1 

 

1. Find the boundary frequency for the nickel plate necessary for the photoelectric effect. The work of the 

electrons emitted from nickel is 5 eV. What colour corresponds to the found frequency value? 

 

 

2. The energy needed to excite a hydrogen atom from its ground state to its fourth excited state is (?) 

 

 

3. Two electrons are moving with the same speed 0.8c, in opposite directions. What is their relative speed? 

 

 

HW: Find the energy needed to excite a hydrogen atom from its ground state to its third excited state. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Support (hints):  
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